



Vendor Ranking

Letting: 07241113 November 13, 2024 11:00 AM
Call Order: 002
Contract: E7U05-R0
District: District 7
Counties: DIST/ST-WIDE, PINELLAS
Fed Aid No: N/A
Contract Time: 365 CALENDAR DAYS
Project(s): 44532817212 (*)
Contract Desc: ASPHALT REPAIR

Rank	Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	TURTLE INFRASTRUCTURE PARTNERS, LLC	Responsive	Winning bid	\$594,000.00	100.00%
2	PREFERRED MATERIALS INC.	Responsive	Non-Winning Bid	\$1,103,043.09	185.70%
3	AJAX PAVING INDUSTRIES OF FLORIDA LLC	Responsive	Non-Winning Bid	\$1,468,487.72	247.22%
	SUPREME ROOFING & CONSTRUCTION, INC.	Non Responsive	Non-Winning Bid		

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



Tabulation of Bids

Letting: 07241113 November 13, 2024 **Call Order:** 002 **Contract:** E7U05-R0
District: District 7 **Counties:** DIST/ST-WIDE, PINELLAS **Fed Aid No:** N/A
Contract Time: 365 CALENDAR DAYS **Project(s):** 44532817212 (*)
Contract Descr: ASPHALT REPAIR

The work under this Contract consists of asphalt pavement milling, resurfacing, marking, and traffic loop repairs.

The contract will be awarded at the Department's Advertised Project Cost amount of \$500,000.00; low bid will set the unit price.

The quantities shown on the Bid Price Proposal are approximate and only represent estimated planned requirements based on historical or specific project needs. The Department does not guarantee any maximum or minimum quantity, any range of quantities, or the exact quantities shown for each bid item. The Department's estimated quantities and the Contractor's bid price will be used to calculate a total bid amount. This total bid amount will then be used to determine the low bidder; however, actual payment under the awarded contract will be based on actual quantities completed. For this Contract in which specific sites are not identified at the time of letting, the Engineer will issue a Work Document. Work Documents will identify the location, description, amount of work to be accomplished, and the number of calendar days to complete the work.

Previous Contract E7P00, let 8/11/2021.

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) TURTLE INFRASTRUCTURE PARTNERS, LLC		(2) PREFERRED MATERIALS INC.		(3) AJAX PAVING INDUSTRIES OF FLORIDA LLC	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (ASPHALT REPAIR (MECHANICAL) (TN)								
0005 0327 70 1 MILLING EXISTING ASPHALT PAVEMENT, 1" AVG DEPTH		700.000 SY	2.00000	1,400.00	20.27000	14,189.00	21.56000	15,092.00
0010 0327 70 5 MILLING EXISTING ASPHALT PAVEMENT, 2" AVG DEPTH		3,800.000 SY	3.00000	11,400.00	9.17000	34,846.00	12.86000	48,868.00
0015 0327 70 6 MILLING EXISTING ASPHALT PAVEMENT, 1 1/2" AVG DEPTH		10,000.000 SY	3.00000	30,000.00	9.86000	98,600.00	12.07000	120,700.00
0020 0327 70 8 MILLING EXISTING ASPHALT PAVEMENT, 2 1/2" AVG DEPTH		1,000.000 SY	2.00000	2,000.00	15.67000	15,670.00	16.29000	16,290.00



Tabulation of Bids

Letting: 07241113 November 13, 2024 Call Order: 002 Contract: E7U05-R0

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) TURTLE INFRASTRUCTURE PARTNERS, LLC		(2) PREFERRED MATERIALS INC.		(3) AJAX PAVING INDUSTRIES OF FLORIDA LLC	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (ASPHALT REPAIR (MECHANICAL) (TN								
0025 0327 70 11 MILLING EXISTING ASPHALT PAVEMENT, 2 1/4" AVG DEPTH		1,000.000 SY	3.00000	3,000.00	30.54000	30,540.00	15.09000	15,090.00
0030 0334 1 13 SUPERPAVE ASPHALTIC CONC, TRAFFIC C		170.000 TN	200.00000	34,000.00	239.97000	40,794.90	631.98000	107,436.60
0035 0337 7 25 ASPHALT CONCRETE FRICTION COURSE, INC BIT, FC-5, PG 76-22		200.000 TN	325.00000	65,000.00	597.75000	119,550.00	1,174.44000	234,888.00
0040 0337 7 82 ASPHALT CONCRETE FRICTION COURSE,TRAFFIC C, FC-9.5, PG 76-22		200.000 TN	320.00000	64,000.00	371.20000	74,240.00	753.70000	150,740.00
0045 0337 7 83 ASPHALT CONCRETE FRICTION COURSE,TRAFFIC C, FC-12.5, PG 76-22		905.000 TN	320.00000	289,600.00	275.36000	249,200.80	408.89000	370,045.45
0050 0630 2 12 CONDUIT, FURNISH & INSTALL, DIRECTIONAL BORE		500.000 LF	20.00000	10,000.00	65.69000	32,845.00	66.39000	33,195.00
0055 0660 2101 LOOP ASSEMBLY- F&I, TYPE A		6.000 AS	750.00000	4,500.00	3,441.67000	20,650.02	7,166.90000	43,001.40
0060 0660 2102 LOOP ASSEMBLY, F&I, TYPE B		6.000 AS	750.00000	4,500.00	3,173.25000	19,039.50	6,956.14000	41,736.84
0065 0660 2106 LOOP ASSEMBLY, F&I, TYPE F		6.000 AS	750.00000	4,500.00	3,782.40000	22,694.40	7,377.66000	44,265.96



Tabulation of Bids

Letting: 07241113 November 13, 2024 Call Order: 002 Contract: E7U05-R0

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) TURTLE INFRASTRUCTURE PARTNERS, LLC		(2) PREFERRED MATERIALS INC.		(3) AJAX PAVING INDUSTRIES OF FLORIDA LLC	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (ASPHALT REPAIR (MECHANICAL) (TN)								
0070 0711 11180 THERMOPLASTIC, STANDARD, WHITE, YIELD LINE		1,000.000 LF	1.00000	1,000.00	30.64000	30,640.00	35.13000	35,130.00
0075 0711 12121 THERMOPLASTIC, REFURBISHMENT, WHITE, SOLID, 6" FOR MAINTENANCE USE		1,000.000 LF	1.00000	1,000.00	2.45000	2,450.00	2.81000	2,810.00
0080 0711 12122 THERMOPLASTIC, REFURBISHMENT, WHITE, SOLID, 8" FOR MAINTENANCE USE		500.000 LF	1.00000	500.00	3.68000	1,840.00	4.22000	2,110.00
0085 0711 12123 THERMOPLASTIC, REFURBISHMENT, WHITE, SOLID, 12" FOR CROSS WALK OR ROUNDABOUT- MAINTENANCE USE ONLY		500.000 LF	5.00000	2,500.00	7.35000	3,675.00	8.43000	4,215.00
0090 0711 12124 THERMOPLASTIC, REFURBISHMENT, WHITE, SOLID, 18" FOR DIAGONAL OR CHEVRON, MAINTENANCE USE ONLY		500.000 LF	3.00000	1,500.00	9.81000	4,905.00	11.24000	5,620.00
0095 0711 12125 THERMOPLASTIC, REFURBISHMENT, WHITE, SOLID, 24" FOR STOP LINE OR CROSSWALK, MAINTENANCE USE ONLY		1,000.000 LF	10.00000	10,000.00	12.26000	12,260.00	14.05000	14,050.00
0100 0711 12131 THERMOPLASTIC, REFURBISHMENT, WHITE, SKIP, 6"		2.000 GM	2,500.00000	5,000.00	3,064.13000	6,128.26	3,512.70000	7,025.40



Tabulation of Bids

Letting: 07241113 November 13, 2024 Call Order: 002 Contract: E7U05-R0

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) TURTLE INFRASTRUCTURE PARTNERS, LLC		(2) PREFERRED MATERIALS INC.		(3) AJAX PAVING INDUSTRIES OF FLORIDA LLC	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (ASPHALT REPAIR (MECHANICAL) (TN)								
0105 0711 12141 THERMOPLASTIC, REFURBISHMENT, WHITE, 2-4 DOTTED GUIDELINE / 6-10 GAP EXTENSION, 6", MAINTENANCE USE ONLY		1.000 GM	2,500.00000	2,500.00	6,128.26000	6,128.26	7,025.40000	7,025.40
0110 0711 12160 THERMOPLASTIC, REFURBISH, WHITE, MESSAGE		30.000 EA	100.00000	3,000.00	245.13000	7,353.90	281.02000	8,430.60
0115 0711 12170 THERMOPLASTIC, REFURBISH, WHITE, ARROWS		31.000 EA	100.00000	3,100.00	122.57000	3,799.67	140.51000	4,355.81
0120 0711 12201 THERMOPLASTIC, REFURBISHMENT, YELLOW, SOLID, 6"		1.000 GM	2,500.00000	2,500.00	8,579.57000	8,579.57	9,835.56000	9,835.56
0125 0711 12221 THERMOPLASTIC, REFURBISHMENT, YELLOW, SOLID, 6" MAINTENANCE USE ONLY		500.000 LF	1.00000	500.00	2.45000	1,225.00	2.81000	1,405.00
0130 0711 12222 THERMOPLASTIC, REFURBISHMENT, YELLOW, SOLID, 8" MAINTENANCE USE ONLY		500.000 LF	1.00000	500.00	3.68000	1,840.00	4.22000	2,110.00
0135 0711 12224 THERMOPLASTIC, REFURBISHMENT, YELLOW, SOLID, 18" FOR DIAGONAL OR CHEVRON, MAINTENANCE USE ONLY		500.000 LF	3.00000	1,500.00	9.81000	4,905.00	11.24000	5,620.00



Tabulation of Bids

Letting: 07241113 November 13, 2024 Call Order: 002 Contract: E7U05-R0

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) TURTLE INFRASTRUCTURE PARTNERS, LLC		(2) PREFERRED MATERIALS INC.		(3) AJAX PAVING INDUSTRIES OF FLORIDA LLC	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (ASPHALT REPAIR (MECHANICAL) (TN)								
0140 0711 12231 THERMOPLASTIC, REFURBISHMENT, YELLOW, SKIP, 6"		1.000 GM	2,500.00000	2,500.00	3,064.13000	3,064.13	3,512.70000	3,512.70
0145 0711 12241 THERMOPLASTIC, REFURBISHMENT, YELLOW 2-4 DOTTED GUIDELINE/ 6-10 GAP EXTENSION, 6" MAINT USE ONLY		1.000 GM	2,500.00000	2,500.00	6,128.26000	6,128.26	7,025.40000	7,025.40
0150 E101 1 1 MOBILIZATION		6.000 LO	5,000.00000	30,000.00	37,543.57000	225,261.42	17,809.60000	106,857.60
0001 ASPHALT REPAIR Section Totals: (MECHANICAL) (TN)				\$594,000.00		\$1,103,043.09		\$1,468,487.72
Contract Grand Totals:				\$594,000.00		\$1,103,043.09		1,468,487.72